
1290 Super Duke R, orange 2020 <2020><US><F9975T9>
SIDE / CENTER STAND

53759

Pos Part Number Description Additional Text Quantity

1 61703023033C1 Side stand with magnet 1.00

2 61703028000 Side stand bracket 1.00

3 61703026000C1 Side stand bracket 1.00

4 61703027000C1 Protection plate 1.00

5 60303024100 SIDE STAND SPRING 1.00

6 0025080166S HH collar screw M8x16 TX40 SL 2.00

7 0035100249S HH collar screw M10x24 ISA45 S 2.00

8 61303028001 Special screw, side stand prin 1.00

9 61011045000 Side stand sensor 1.00

10 014580040123S Cap head screw ISO 14580-M4x12 2.00

11 62503027200 Screw for side stand M10x31.2 1.00

12 61705069000 Collar bushing 8.5x12.5x23.5x1 2.00

13 54305068100 damp. component silicone grey 1.00


